Quickcheck- Environmental Issues Quiz
Formative Assessment on standard SS6G9
1. Which of these is an effect of acid rain?
a. It improves the soil for plant growth.
b. It purifies sources of water.
c. It removes dirt from buildings and statues.
d. It harms waterways and kills animals and plant life
2. Which of the following is NOT a primary cause of air pollution in the UK?
a. solar power
b. the high population of the UK
c. factories
d. vehicle emissions (car exhaust)
3.   After 1986, Chernobyl, Ukraine was abandoned. What caused the people to abandon this city?
a. The nuclear power plant exploded and radiation levels were unsafe.
b. The people were being persecuted by soldiers of the Soviet Union.
c. The Chernobyl River was diverted so there was no drinking water
d. The area was under water because of the construction of a dam.
4. Which of these factors is a major contribution to the environmental problems that exist in Europe?
a. Much of Europe is covered by desert.
b. Much of Europe is heavily populated.
c. Europe does not have many industries.
d. Europe has few natural resources.
5. Which of the following was NOT a consequence of the Chernobyl Disaster?
a. The air currents caused the pollution to travel to neighboring countries.
b. Very few people were harmed in this disaster.
c. The air and land was contaminated, so people were force to evacuate the city.
d. [bookmark: _GoBack]People had health issues during and after the disaster.
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